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5. What is the trace of 
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(B) For 
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Find the determinant XE "determinant"  of 
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9. Without using the cofactor XE "cofactor"  method of finding determinants, find the         determinant XE "determinant"  of
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10. Without using the cofactor XE "cofactor"  method of finding  determinants,   find the determinant XE "determinant"  of
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11. Without using the cofactor XE "cofactor"  method of finding determinants, find the determinant XE "determinant"  of

                
[image: image29.wmf][

]

ú

ú

ú

ú

û

ù

ê

ê

ê

ê

ë

é

=

9

3

2

1

0

6

5

2

0

0

3

0

0

0

0

5

A


12. Given the matrix XE "matrix" 
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(P) 
[image: image33.wmf][

]

ú

ú

ú

ú

û

ù

ê

ê

ê

ê

ë

é

=

2

1

4

8

13

1

89

1157

8

1

64

512

5

1

25

125

A
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13. What is the transpose XE "transpose"  of 
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14. What values of the missing numbers will make this a skew-symmetric matrix XE "skew-symmetric matrix" ?
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15. What values of the missing number will make this a symmetric matrix XE "symmetric matrix" ?
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16. Find the determinant XE "determinant"  of 
           
[image: image40.wmf][

]

ú

ú

ú

û

ù

ê

ê

ê

ë

é

=

5

12

144

1

8

64

1

5

25

A



17. What is the determinant XE "determinant"  of an upper triangular matrix XE "upper triangular matrix"  
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19. Why is the determinant XE "determinant"  of the following matrix XE "matrix"  zero?
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20. Why is the determinant XE "determinant"  of the following matrix XE "matrix"  zero?
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21. Show that if 
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 Answers to Selected Problems
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4. C
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7. 0:  Can you answer why?
8. 0:  Can you answer why?
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12. 
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13. 
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14. The determinant XE "determinant"  of 
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15. The determinant XE "determinant"  of an upper triangular matrix XE "upper triangular matrix"  is the product of its diagonal XE "diagonal"  elements XE "diagonal elements" ,
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16. 
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17. The first row of the matrix XE "matrix"  is zero, hence, the determinant XE "determinant"  of the matrix is zero.

18. Row 4 of the matrix XE "matrix"  is 1.1 times Row 3. Hence, its determinant XE "determinant"  is zero.

19. We know that det(AB) = det(A)det(B). 
            [A][B] = [I] 
             det(AB) = det(I)  
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